3-1 Inequalities and Their Graphs
I can identify solutions of inequalities.
I can graph and write inequalities.
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Solution of an inequality: ________________________________________________________________

_________________________________________________________________________________

	Is each number a solution of x ≤ 7

a. 9

b. -1

c. -5

d. 14/2


	Is each number a solution of x > -8
e. 5
f. -1

g. -10
h. 1/2


	Is each number a solution of -1 > x
a.
0

b.-3

c. -6

	Is each number a solution w < [image: image5.png]


                             
a.5

b. -2

c. [image: image6.png][y






	Is each number a solution of 2y + 1 > -5

a.-4

b.-2

c. 4

	Is each number a solution of n(n - 6) > -4

a.
3

b.
-2

c. 5


	Graph the inequality.

x > 6
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	Graph the inequality
8 > b
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	Graph the inequality
-4 < w
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	Graph the inequality
x > 12
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Write an inequality for the graph
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	Write an inequality for the graph



	Write an inequality for the graph
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	Write an inequality for the graph
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	Define a variable and write an inequality to model each situation.
The temperature in a refrigerated truck must be kept at or below 38°F.

	Define a variable and write an inequality to model each situation.
The maximum weight on an elevator is 2000 pounds.

	Define a variable and write an inequality to model each situation.
A least 20 students were sick with the flu.

	Define a variable and write an inequality to model each situation.
The maximum occupancy in an auditorium is 250 people.


	Define a variable and write an inequality to model each situation.
The maximum speed on the highway is 55 mi/h. 

	Define a variable and write an inequality to model each situation.
A student must have at least 450 out of 500 points to earn an A.



1. Explain how you choose whether to draw an open dot or a closed dot when you graph an inequality. 
2. Explain how you would interpret the phrase “at least” and “at most”  in an inequality.  
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